Question Scheme Marks AOs
4@ Setsup identity  4x° —19x” +28x—4 = (Ax+B)(x-2)" +C ML 21
a
And finds values of A, Bor C
Fortwo of A=4,B=-3,C =8 Al 1.1b
For all three of A=4,B=-3,C =8 Al 1.1b
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(6 marks)
Notes:
(@)

M1: For showing clear calculations and algebraic reasoning leading to values of A, B or C.

E.g. If an identity is used then it must be correct. Sets 4x° —19x” +28x —4 = (Ax+B)(x - 2)2 +C and
finds values of A, B and C are found by substituting or equating terms

E.g. If division is used then (x - 2)2 — X* £4x+4 and the division must lead to a linear quotient of

2
4X +....

4x+ B with a remainder that is independent of x. x> —4x + 4) 4x° —19x” +28x—4

(Note: This method would not be expected but is an acceptable way to score the marks )

Al: Fortwoof A=4,B=-3,C =8

Al: For all three of A=4,B=-3,C =8

(b)

M1: For a correct attempt at integrating either the AX+ B term or the >-term
(x-2)

M1: For a correct attempt at integrating both the Ax+ B term and the > term

(x-2)

8
Alft: 2x° —3x——2+ ¢ but follow through on their non-zero values of A, B and C.
X_




